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1 @ Other thanlowering th&i‘anperature state any other factor that raisesthe surface

tensonof aliquid. (Imark)
o;,_\\
S
........... Q}%
(b) A p%'b%f mortar weighs 60N on earth where accel eration dueto gravity is 10N/kg.
,;ghe moon has gravitationa acceleration '/, timesthat on earth. How many
Q,Qnewtonswi [| themortar weigh onthemoon? (2marks)
&
G
Q*e ...................................................................................................................................
2
S
@ ...................................................................................................................................
{(0\ 2. Figure 1 bel ow showsaU-tube containing oil of light density in equilibrium.
7 A =z
oil —=
h
j_’::——V\ater
25cm -
Figurel
Determinetheheight h of theoil columnAC (density of oil is600kg/m?) (3marks)
3. Statetwo featuresthat maketheclinical thermometer to bemore sensitive. (2marks)
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4.

5.

6.

A white paper iswrapped round the | uncti%Qﬁ%f acopper and wooden rodswhich are
joined together asshowninfigure2 bg&/(z\’/.

©
@ JA)B) }——copper rod
K N\
Wooéan rod §
N
)
A\
%
&
X .
\B%lnsen bur ner Figure2
&)
>
Scrgegnd explainthe part of the paper that got charred first. (2marks)
NS

A uniform metreruleispivoted at its centre. A force of 65N isapplied at apoint whichis
15cm from oneend of therule. What isthe moment of theforce? (2marks)

Inan experiment to demonstrate Brownian motion, smokewasplacedinanair cell and
observed through amicroscope. State areason for using small particles such assmoke
particlesinthisexperiment. (Imark)
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7. Figure 3 bel ow showsasuspended plumbli r';{aQ(“’~
/////////é&%/

Figure3

8. é‘liudent blew agust of air into the horizontal straw inthedirection showninfigure4

& “dow. |
R aAr—0 ——> —5 —>»
\\
\N straw
QO
Figure4
water

Explain what was observed inthevertical straw.

9. Thefigure5 be ow showsan arrangement of identical springseach of length 6cm and
Springconstant0f4Nlcm. NN,

springs
Figure5
16N

Determinethetotd extens on of the arrangement when aweight of 16N is supended
asshown above.
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10.

11.

&

14.

A body initialy moving at EOWSd&reeseés\&?formly a 4m/suntil it comestorest. What
distancedoesit cover fromthetimei é@i'?ted to decel erate?

A gasoccupies40.0ml at 127°c. What volumewill it occupy at -73°c assuming that
pressureand number of particlesisconstant.
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(Imark)

(Imark)

(Imark)

(2marks)



15.

systemasshowninfigure6.
<

<
&
2 F=500N

@* 50N

Bucket Figure6
800N
Theworker applied aforce of 500N for adistance of 6m. Given that theweight

of the pulley was 50N. Find:-

(i) velocity ratio of themachine. (Imark)
(i) theload distance (2marks)
(i)  thework doneontheload (2marks)
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(b)

e
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&
(v)  theefficiency of themachine %\Q(b (3marks)
....................................... O oo
)
NS
-------------------------------- @ R R R )
)
.......................... et e s ss s e ss e e s e AR R ettt
S
v) Givet\g/g?easonswhytheefficimcy of the machine can not be 100%. (2marks)
...... TSR
&
. T
%0) .....................................................................................................................................
Q,Q .....................................................................................................................................
&
Definetheterm centripeta acceleration. (Imark)

Figure 7 showsan object of mass0.2kg whirledinavertical circle of radius 0.5m at auniform speed of 5m/s.
A

P

~

~-e-7 Figure7

(i) Determinethetensoninthestring at
(i) positionA (3marks)

(i) position B (3marks)
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(i) Atwhat pointisthestringlikely to &&?Expl an. (2marks)
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17 @ () Sta@fhelaNoffloatation. (Imark)

o ttatetestseeb et st e be et e be bt et e b et e b eRe et e b e Rt b b et ebeRe et ebe At eEeRe et ebe Rt b ebe st ebeRe b ebe e beReseebeRtebebe st benesrebin

N
<2 2SR
&
s
&
@&e (b) (i) Explainwhy ahollow metal spherefloatson water whileasolid meta sphere of

QO\ thesamemateria sinksinwater. (2marks)

(© Figure8 showsauniform block of uniform cross-sectiona areaof 6.0cm? floating ontwo
liquidsA and B. Thelengthsof theblock in eachliquid are shown.

N /
cm
LiquidA 2cm
2cm
LiquidB )
ST Figure8
\ G J

Giventhat thedensity of liquidAis800kg/m?and that of liquid B is1000kg/m?.
Determinethe

® weight of liquid A displaced (Imark)
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Q
(i) weightofliquidBdispIach%

(iii) density ofthe block
N

(b) Figure9 showsaset up used in an experiment to determinethe specific
heat capacity of water.

[ ®

thermometer

coil — = WAV calorimeter

D= water Figure9

The databel ow was obtai ned from the experiment.
Current | inthecircuit=1.5A

Timefor heating=10min

Mass of water = 0.4kg
Changeintemperature=6°

Resistance of the coil =8Q

(i) Namethe apparatusthat might have been used in addition to the cal orimeter. (2marks)
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(i) Givetwo waysinwhich heat Iossfr(gmfz{hecdori meter might have been reduced

inthisexperiment. Q,Q(b

&
---------------------------------------- @ P R R R Ry
)
.................................. e v esaessss s ss s e e R e R e e ee s et st

N
(i) Explain Wh)&gsmg alarger massof theliquid while supplying the same amount

2
Q*e (v)  Usingtheabovedata, determinethe specific heat capacity of water.

v) State two assumptionsyou made whileworking out theanswer in (iv) above

(© A water fall 168m high hasthetemperature of water at itstop as 18°C.
Work out thetemperature of water at the bottom of thewater fall using the
specific heat capacity of water in (iv) above.

[ | PO . P—— | 1N

(2marks)

(Imark)

(4marks)

(2marks)



19.

e
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@ 0] Draw ascdeof ami cromete%r\&f?ew gaugeshowing areading of 5.87mm

ifitspitchisO5mm & (1mark)
N
&
R
N
)
A\
%
&
N
&

C?goﬁi) Giventhat theinstrument in (i) above had azero error of +0.21. Statethe

& actual reading from the arrangement given above. (Imark)

e@

(b) Inan experiment to estimate the thickness of an oil mol ecul e, lycopodium powder
was sprinkled on water surface beforean oil drop of volume0.2cm*wasgently
placed. Anoil patch 10cm widewasformed.
® State two reasonswhy the powder was sprinkled on the surface. (2marks)

(i) Usetheinformation to determinethethicknessof onemoleculeof il inthe
experiment. (3marks)
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(i) Describean experiment to determ%l(fé?hevol umeof anoil dropif you are provided with

aburette, someoil and ameas%{;j?% cylinder.
o
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)
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e
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&
Q
(iv State two assumptions madein cal cul ating thethickness of theoil molecule.
eSS RS RSSO
&
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